PART -1

_______ it s e g - ]
General Studies HATHTT 37TTT
1. Under which Constitutional 1. et ==t =t virrefiy wifererm & ol
Amendment were the Fundamental farar dfaermr doner gon B oy a0
Dutics incorporated into the Indian
Constitution? A. 40 =T HIEA
A. 40" Amendment B. 42 =i @yies
nd P
B. 42™ Amendment C. 44 = Gaier
C. 44™ Amendment Y
D. 86 9199144
D. 86™ Amendment
2. Match the following- 2. ﬁmﬁﬁgﬁﬁﬁ%ﬁ hITsTu-
Column-I Column-II hTH-1 F1Aq-11
(a) Rouf (I) Assam (a) TP (1) 7|
(b) Ghughuti (I) Maharashtra :
. | . (b) Tt (1) HERTZ
(c) Bihu (Ill) Himachal _ )
_ | Pradesh (@ Ty _ (1
(d) Dindi (IV) Jammu and (d) feust (IV) S 3T T
Kashmir i fow o fereet ﬁx}qﬁw@-
Choose the correct answer from the
options given below- A. a-1, b-11, c-II1, d-1V
A. a-l, bl e-III, d-1V B. a-lI, b-111, c-1V, d-1
8. 2l belll, eV C. a-IV, b-IlL, -1, d-11
C. a-1V,b-IIl, c-1, d-11
D. a-lll, b-1V, ¢-I, d-11
D

. a-lll, b-1V, ¢-1, d-11

*0QF3[7] Space For Rough Work / t = % ford sire ®lelel-E

9-2707-ABR25-REC-MOR

< s =

Scanned with CamScanner


https://whatsapp.com/channel/0029VaAa6hrJP218uz3Rag0n

3. Armange the following Prime Ministers

in the correct chronological order of
their tenure and select the correct
answer from the options given below-

(1) Narasimha Rao

(») V.P.Singh

(¢) Chandrashekhar

(d) H.D. Deve Gowda
(e) Inder Kumar Gujral
A.b—>c—oHa—>d—oe
B.b—o>a—>c—>e—d

C.c—>b—a—>d—ece¢

D.a—>b—>c—>e—>d

S forfire ot Y ST T &
) e o o S e A
forepent # & Tt 3w HU-

(a) TR A

(b) @, . fiw

(¢) waEINar

(d) ua, A e

(c) ¥R PHT TSI
A.b—>c—>a—>d—oe
B.b—>a—>c—>c—d

C.c>b—>a—>d—e

D.a—b-—c—oe—>d

Which article of the Constitution deals

. Gy 1 T ST fa A R

with the appointment of the President areres &y Frafer & daiferd &7
of the Finance Commission? >
A. 180 | p- S50
C. 380 C. 380
D. 480 D. 480
Which of the following places in India i § Fefaiad § 9 o 91 e g
was the centre of Buddhist education? {3781 =1 g A2
A. Nalanda A, reE
B. Nadiya
B. Hfen
C. Mithila
D. Takshashila C. fafimn
D. q&REr

|
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6. Arrange the ports of India in order 6.

I o A TET 2 3w | afe faam
from north to south-

3 1.
(a) T-Iﬁl’ﬁ

(b) HHITH

(a) Mumbai
(b) Mormugao

(¢) Kandhla

: ' 1) AhlH
(d) Cochin () ) et
(d) hiT
A.ao>b-oc—d
B. b >c—>a—d A 8> b =34
C. ©=ya=rh—>d | B. h—>c¢c—>a—d
C.c—>a—>>b=
D.c—>b-—a—d s k=3l - d
D.c—>b—oa—>d
7. Place the Indian Independence 7. v EdAdn AR 7 2 F
movement in the correct order Y SET T 79 o T (A24 0 0)-
according to the time of their - Ny o '
occurrence in ascending order- (a) AT & AT
(a) Civil Disobedience movement (b) faemsa e
(b) Khilafat movement (c) TERIN e
(¢) Non co-operation movement (d) IR DS HAEeH
(d) Quit India movement ' '
A.a—>c—>d—>b ¢ a—>c—>d=b
B.b—>¢c—>a—d B.b—)c—).a—-?»d
C.a—>b—o>d—c C.a—>b—>d—>c
D.d >a—>b—oe¢ D.d—>a—>b—>c
8. How many ways did Buddha tell to 8. @@ﬁg:@ﬁﬁﬂ%ﬁﬁﬁmﬁm%‘?
End Suffering?
L A. dH
A. Three _
B. Five : o - B. U=
C. Eight | C. 318
D. Ten D. <9

=0fd GD Space For Rough Work/'{tﬁifﬂﬁi‘ﬁf&lﬁm Ej[j[j O«

vavamasirevor 5 [[IIMIIHCE » s

Scanned with CamScanner]



https://whatsapp.com/channel/0029VaAa6hrJP218uz3Rag0n

9.

For the below Assertion [As] and
Reason [R] choose the correct
alternatives-

Assertion [As] : The States of
Tharkhand and Orissa have quartz and
gamet rocks of Precambrian age.

Reason [R] : Manganese is found in
quartz and gamet rocks of
Precambrian age.

A. Both [As] and [R] are true, and

[R] is the core explanation of [As].

B. Both [As] and [R] are true. but [R]
is Not the correct explanation of
[As]. |

C. [As] is true, but [R] 1s falsc.

D. [As] s false. but [R] 1s true.

L e _ae S

ﬂﬁﬁﬂmmmlmlﬂmm%m
it farren -

@ml.-m;wmﬂzrrﬁﬁmrmﬁjit{é
fizer o ot FCEA e iz =1EH o

v (R - g i 7 A7 A A
1z wrgrEr i e o e 2

A. [As] 30 [R] 2T 52T &, 307 [R].
[As] ) Het = 21

B. [As] 3 [R] @i @ &, &0 [R],
[As] &1 G&l TIEF 721 2|

C. [As] 2, &fFA [R] F75E 2

D. [As] 379 2, Sfs [R] EF 2

10.

Which of the following quantities is a
vector?

A. Speed
B. Distance
C. Displacement

D. Work

10.

frafofes § 9 %= 9 o w22

A. T
B. &

C. famm

D, &
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11. Match the following-
Column-l Column-11

(a) Exothermic (1) Absorbs heat

(b) Endothermic (11) Releases heat

(¢) Enthalpy (111) Total heat
content of a
system

(d) Activation  (1V) Minimum

Energy energy required

to start a
rcaction
Choose the correct answer from the
options given below-

A. a-l, b-11, c-III, d-IV
B. a-Il, b-I, ¢-11I1, d-1V
C. a-Il, b-1, ¢c-1V, d-111
D. a-IIl, b-1, c-11, d-IV

1. yufer #fs.

HretH-1 A1

(o) WA (1) Frm st
T 2

(by w2@vafisr (1) zon et
FTel 7

(¢) U=yt (1) et &= £ e
EAS IR D)

() TfFr =t (v afabre sy
el

e fow o faeret | 7 =@ 3 =H-

A a1, bl eI d-1V

B. a-Il, b-1, c-IlI, d-1V
C. a-11, b, c-1V, d-111
D. a-lIll, b-1, c-lI, d-1IV

12. Arrange the following Finance
Commission Presidents in a right
chronological order-

(a) Dr. C. Rangarajan

(b) Y.B.Reddy

(¢) N.K.Singh

(d) Vijay L. Kelkar

(e) Arvind Panagariya

A- ¢, d, b, a, Cc

B. a,d,b,c,e
C. b,d,a,c,e,
D.

d,c,a,b, e

. Frefafas fa= s & st =1 921

SRTCATRR R shH H Saafierd i-
(a) ST 9l TS

(b) . st e

(c) w1, . fi

(d) Tao=ua. et

(e) Ffeie T

A. c,d,b,a,c

B. a,d,b,c,¢
C. b.d,a,c. ¢
D.

d,c,a.b. ¢

Jelo]® m Space For Rough Work / T o & forl sTTe D (JOo-=
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13.

The Zaskar mountain range is located
in-

A. In Trans Himalaya
B. Inthe Greater Himalaya

C. Inthe Central Himalaya

13. sirp e 2oft feord 2-

A. gid femrerr |
B. aea fearerr 4
C. aoradi fearer 1

D. Inthe Shivalik range D. Rrenfers goft o
1.4- In which district of Madhya Pradesh 14. fufar feprmren % fer wfirg am =1 g
are the Bagh Caves famous for Mural e U291 °F fore forer 1 feua 22
Painting art located?
A. Bhopal A. g
B. Dhar B. 9
C. Gwalior C. @i
D. Ujjain D. 35949
15. In which year was the Sarkaria 15, U=y Heidl &7 SeR—H 0 % fqu

Commission appointed to study
Centre-State relations?

A. 1981
B. 1983
C. 1985

D. 1987

TN AT FoF o sy 72
A. 1981
B. 1983
C. 1985

D. 1987
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16.

The rivers Towing into the Bay of
Bengal arc-

16.

atriver A Tt o ferery arefy afaaf -

(1) anar
(1 Damodar ) ot
(K) Indravati (K) szmaa
(L) Mahi (1) ®rE

(M) Kaven
Sclect the correct answer from the
following options-

A. Jand K only

(M) Fad

Fr=tferfiaa Prredt o & wé 3am w1 =

A. Fae J 3K

B. Jand L only .

B. el ] AL
C. .Kand M
D. J.Kand L C. J,K#M

D. J,K#L

17. For the below Assertion [As] and 17. = Ru e 21fiered [As] AT F0 [R]F
Reason [R] choose the correct mgﬁﬁaﬁqﬁﬁ,
a]tema‘u‘ves- & [AS] : . ——
Assertion [As] : The Round Table A ; TUN
Conference was organised to find a I Eﬂ\i[ilill AT 6l T
solution to the problem of the Indian <hT EHTYT TS o o fofam mmam =l
Independence movement. T [R] : FEIE T TR AT T
‘;eai’“”d[R] : ;”:je governmong 0;_ 57 Ao forT T T i
ngland wanted to solve the Indian 2

problem without the help of the Indian R K o
National Congress. fie fRu e feredl § | w1 ST =44
Select the correct answer from the FL-

options given below-

A. [As]istrue, but [R] is falsc.
B. [As]is false, but [R] is true.

C. Both [As] and [R] are true.

D. Both [As] and [R] are true, but [R]
is not the correct explanation of

[As].

A. [As] @ &, A [R] 36 R
B. [As] 370 ®, AfF [R] T &
C. [As] @@ [R] 3F1 & &)

D. [As] 3 [R] QR & &, T [R],
[As] &1 T TrefiReeT e 2l

Telol® Ej Space For Rough Work / % Fird & ferd sTe Ej @)L
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18. Which of the following statement is 18, ey 3 & 1 |1 e Ted €7
truc? - ;
e (1) ﬁqaﬁﬁﬁﬁﬁéﬁéiéﬁ?ﬁﬂ

(I) The clothes which had floral

) ﬁgmqgargqsrm ol
embroidery were called
Pushpatta. (1) Tl &t o astrae sl 39 ell
(I) This art of Indian clothes is | o6 HefY TOTEAH
related to Rajasthan,
A. FUT1TF 2

A. Statement I is correct.

B. Statement I is correct, B, o IR

C. Both statements are correct. C. S e T B
D. Both statements are false. D. Ml 6 3 &l

19. The Cow enjoyed prestige as a unit of 19. T =1 G FHTS o &F § q1=41 ITH off-
value-
(I) T A
(1) g FHA

(I). Rigveda period

(II) Buddhist period

1) 3R 3w w1t
(III) Late Vedic period (D

(IV) Maurya period (IV_) Hidhret
Select the correct Answer. HET I HT =5 )
A. IandIT A. 13RI

B. IIand III | B. II3RIII

C. Tand I.II C. 13111

D. Il and IV | D. H3RIV
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20.

As per the Census 201 1. what is the
Sex Ratio (Females per 1000 Males)
in India?

20.

2011 Y SO S1ER Wi 3 fed

37T (3t 1000 g ot wfierm) Fraeh
&7

A. 743 B. 843
C. 943 D. 1043 A. 743 B. 843
C. 943 D. 1043
21. The most abundant element in the 21, tpzﬁ Y q&:qﬂ'a T T 21T AT 8 9T
Earth’s Crust is- ST T e 2
A. Fe A e
B B B. Si
C. Al C. Al
D. O D. 0
22. Direction:Fdf the below Assertion 22. sy fRReTuFE | As]aﬂIW[R]

[As] and Reason [R] choose the %mwﬁw;ﬁ_
correct alternatives- . = %
. ' T [As] : ST Shifd oreehT 3893 ST
: Purpl -
Assertion [As] : The Purple ; PN

Revolution which aimed at increasing
Lavender Cultivation in Jammu &
Kashmir.

Reason [R] : The Mission’s focus was
to take advantage of the geographical
conditions and increase the home

. HRW[R] : 39w 51 S e

afeferfeRit o1 ST IaTT SR TR
3T 3 G AT SR SR 1 TS

A. [As] 3R [R] 3Hi & 2, 3T [R],

grown market along with farmer’s [As] Wﬂ@@ﬁﬁm%l

income. _ _

A. Both [As] and [R] are true, and B. [As] aﬂI[R]a:ﬁW%‘ cifeF [R],
[R] is the core explanation of [As]. [As] 1 Tt TR A 2

B. Both [As] and [R] are true, but [R]- |

is NOT the correct explanation of
[As].

[As] is true, but [R] is false.
[As] is false, but [R] is true.

o0

C. [As] T 2, Afh [R] 0 R
D. [As] 70 &, Qe [R] H R

=00 GG Space For Rough Work / T @ & ford S8 Ejtj Qo=
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23, On 4™ April 2025 it BIMSTEC was

hosted by the country-
(a)
(b)
(©)

Bhutan
Thailand
Mvyanmar

(d)  Bangladesh

?

aand b
B. bandc
C. donly

D. bonly

23. 4 31dier 2025 ) AR B3 (Sixth)

24.

Match the following about
Mahakumbh 2025-

Column-I

(a) 14" January (I) Mauni
Amavasya

(b) 29" January (II) Makar
Sankranti

(c) 12 February (IlI) Maha Shivratri
(d) 26" February (IV) Maghi Purnima
Choose the correct answer from the

Column-II

options given below-

A. a-lll, b-1V, c-II, d-I
B. a-ll, b-1, c-1V, d-1I1
C. a-I, b-1I, c-III, d-1V
D. a-1V, b-111, c-I, d-1I

BIMSTEC T AT 21 o-
(1) M
(b) omEE
(¢) WIHR
(d) s
A. aTdb
B. bUdc
C. &ad d
D. &S b
24. weTEh 2025 % Hef # e e shifere-
s ik -1
(@) 145l () s
(b) 2959’ (1) WL dehifer
(c) 2WEl (1) WerEufy
(@) 26w (V) Fef gfefm
e fow e fepedt 3 & w3 -
A. a-IIL, b-TV, c-II, d-I

. a-II, b-1, c-TV, d-III

B
C. a-1, b-Il, c-IIL, d-IV
D

. a1V, b-III, c-I, d-1I

eI EJ[] Space For Rough Work / T % & 3 s @lelel'r
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25. Choose the correct alternative about 25
S alternative ¢ 5. 9 [As] TH FE (R SrFeT
Assertion [As] and Reason [R]- ?;IF [I{l_‘ﬁ%ﬁ'qﬁ '
Assertion [As] Neeraj Chopra is a

famous Javelin throw player. Fo [As] : Aot =gy ufag Safem g

Reason [R] : He won Gold Medal in faemrd)
Olympic 2020. IO [R] : I Sveifrer 2020 # w2t
A. Both [As] and [R] are true, and & Sl 8l
[R] is core explanation of [As]. _ A A (As] T [R] ¥, o (R, (AS]
B. Both [As] and [R] are true, but [R] 1 T 0 B
:s Not the correct explanation of . .
[As]. B. M7 [As] T [R] @@ &, B [R], [As]

1 g8 I T 21
C. [As] @&t 2, Fa [R] 7TeAd 2

C. [As] is true, but [R] is false.

D. [As]is false, but [R] is true.
D. [As] e 2, fod [R] ¥21 2

26. Arrange the following Test Teams in 26. Frey Ft s SATSHe 1 % e FE |
their ICC Ranking in Decreasing . geraftee HifSu.
order- ' \ N
HId
(a) India r ,
(b) England ®)
" (c) South Aftica ‘ () e
(d) Australia (d) frferan
(e) New Zealand (e) Shicts
A.e>d=>c—>b—a A.e—>d—>c—>b—a
B. c—>a—>d—>e—>b B.c—>a—>d—>e—>Db
C. d ' '
- 203U DHE 8 C.d—>c—ob—ora—e
D. a—>e—>c—>b—d
D.a—e—>c—>b—>d

=0 EIF Space For Rough Work / wwd & e e [J0 0o
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27. The light-independent reactions

(Calvin cycle) oceur in (he-
A. Thylakoid membrane
B. Nucleus

C. Mitochondria

D. Stroma

27, syt AR (I =I5) al

T Bt 87

A. smrerTiEs et
B. %5

C. ATRrHifgAT

D. &

28. Which of the following team won the 28. fer o 9 o & A AATA-2025 FT
trophy of IPL-20259 fRaarer sftar?
: llzlumbal Indians i gﬂ'ﬁm
oyal Challengers Ben aluru . :
v & B. {et <eiord drere
C. Chennai Super Kings
D. Kings Eleven Punjab C. ﬁwm
D. f¥ seia dsiie
29. Which of the following statements are 29. ﬁmﬁf@aﬁﬁmﬁa%aﬁﬁﬁ? a
true about black holes? YT T 9

(D) They have immense gravitational
pull.

(II) Nothing, not even light can
escape from them.

(IIT) They emit Hawking radiation.
(IV) They are visible with naked eye.
Select the correct combination.

A. TandII only
B. I, Il and III

C. LI I and IV
D. ITand IV only

() 37 AT TecaTaheor Brar 2|
(D) 399 13 ofr <fier, 72t 76 RF yepray
ot ST Tt forehet T
(1) &m%nﬁwamﬁamﬁ%l
(V) 377 el & R 33 §

et ey =i w57 L

A. HFFI 3R]
B. L1131
C. LIL I 3T 1y
D. Fae I1 3fkk 1v

\
nDDEjEj Space For Rough Work/'(‘iﬁ‘ﬂ!?ﬂfa?%lﬁw EGD Do
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30. As per the Census 2011, what is the

30. 2011 Y ST 3 srepem, e
Density of Population (persons per. sq.

: ST =T Fe (wafen ufa af )
km) in India? Rt &
sl A. 180
B. 282
B. 282
C. 382
C. 382
D. 430
D. 430
31. Match the given options and choose 31. gHferd e Wel 3T TA-
the correct answer-
. HIem-1 -1
Column-I Column-II
(Writer) (Composition) (SIEED) (FfT)
(a) Megasthenes (I) Mahabhashya (a) S () wET™STT
(b) Patanjali (IT) Rajatarangini (b) TSR (1) TeRRRR
(c) Kalhan (ITI) Vikramank- " —
devcharit () e - @
(d) Bilhan (IV) Indica (d) foregor V) e
Choose the correct answer from the A fw 1T fyeredlt H & U IW -
options given below- '
' A. a-I, b-II, ¢-II1, d-IV
A. a-1, b-1I, c-III, d-IV
B. a‘IIl, b-I’ C-IV, d—II B- a‘III, b‘I, C'IV, d-1I
C. a-IL, b-L, c-I11, d-1V - Coaell b, el delV

D. a-IV, b-l, c-II, d-IIT D. a-1V, b-], c-11, d-I11

=00 Ejzj Space For Rough Work/Wﬂﬁf%ﬁﬂﬁW Dm Oao-=
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32. 1dentify the subject/subjects included 32, e afgam F1 g AEA F 929

ija the State List um!cr the Seventh 1157 341 & st fama frn #1 TEAHA

Schedule of the Indian Constitution, £1f4 :

()) Banking e

(K) Land (J) At

(L) FOFCSl ”\" ;{fq

(M) Agriculture (L) ?H

Choose the correet answer from the (M) 2

options given below- 8. P L N
Fafatem frs=n o g a1 777 =3i40-

A. K and M only 49 193 1

B. Jand L only A, FAAK AT M

C. J,Kand L only B. 37 J AW L

D. K, L and M only C. Fa7 ] K A7 L

D. FAAK L A7 M

33. Match the following- 33. mafaa Fifau
053 %‘l]ti'%"—'- " C-——-—.-U]”m;'l I FAGL . EEE
a) Britis I)  Quasi-Federal ’ ___f:rf‘;”T T —
Constitution form of N D St
Government ITI?MF{ J7EF T =549
(b) Irish (TI) Judicial review (b) ATFZ =1 (11) == EEMERIET |
Constitution Hfaars
(c) Canad-lan‘ ((IT) Parliamentary (c) FARIH  (III) T = s
Constitution form of i
Government Wﬂﬂ s .
(d) American  (IV) Directive (d) FAEFTFT (1V) T3 = Hilq 2=
Constitution principles of AfFam F=
State policy

A P ol 6 3wt o =
Choose the correct answer from the S
options given below- A
A. a-Il, b-III, c-1V, d-1 B
B. a-I, b-Il, c-II1, d-IV C
C. a-1V, b-1, ¢-11I, d-I1 5
D. a-Ill, b-1V, c-1, d-II

. a-I1, b-Ill, c-IV. d-1
. a-I, b-I1, ¢-I11. d-Tv
. a1V, b-1, ¢-II, d-1Ii
. a-l1L b-1V, ¢-1, d-11

nDDED Space For Rough Work / T #14 F fad e Ejmmn“

19-2707-ABR25-REC-MOR 16 |||"I”I”"""I”"I"C& 33 SetC

é
]

e T TR R T e ———
Scanned with CamScanne




General Knowledge of

Chhattisgarh

34. Arrange the following major

PART - 11

34,

hyvdroclectric projects of Chhattisgarh

in the correet order of their
establishment-

(a) Minimata Hasdco Bango

Hydroelectric Project

(b)

A. a=>b—oc—d
B. bora—-d—c
C. a»c—ob—d
D

. bod—a—-c

Gangrel Hydroelectric Project

Sikasar Hydroclectric Project

Bodhghat Hydroclectric Project

Ty wrarer A

wifveng A fstferfers sy stz
VS AT 2y e 8
FNAAF F8 0 Zpfea i

(a) foeftaren zoe A st
i ‘

(b) T St AT

(¢) fompram sty afems

(d) =namne Fefagd T

A. a—>b=xe—d

B. ba—->d-—oc

Clasd»c—ob—od

D bod—a—c

35. According to the 2011 census, the
decadal population growth rate of

Chhattisgarh (2001-2011) is-
A. 24.65%

B. 22.61%
C. 25.61%
D

. 23.65%

35.

SETUET 2011 2 SATAT Feiag

aurhia sEE gfE &7 (2001-2011) -

A. 24.65%

B. 22.61%

C. 25.61%

l). 23.()5" (1]
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36. Statement : Regarding Industrial 36. 2z Gﬁ'ﬂmm:ﬁ%

Development Policy 2024- .
Assertion [As] : The Amritkal Eﬁﬁ'@l‘ﬁ EEE
; . Ao [As] : AR '
Chhatusgarh Vision 2047 is 1As] >
envisaged. 2047 1 FRERTTAT
Reason [R]: To adopt innovative T [R] : TST I SfefteR aHaTS Ul
technology from industrial point of mﬁmmw@wm
view by making tull use of the state’s aﬂﬁrﬁmgﬁzﬁwaﬁ ST9™ETI
internal capabilities and natural
resources. :ﬁ%ﬁqmﬁﬁ'ﬁﬁ@mﬁﬁ'{?ﬁ—
Choose the correct answer from the ‘ .
~ - ’ T ? A
following options- A. [As] aﬁt[R]ﬁWﬁ@ [R], [As]
1 T T 2

A. Both the [As] and the [R] are true,

and the [R] explain the [As]. B. [As] 3R [R]SAI GF &, 9T [As],
B. Both the [As] and [R] are true, but [R] = 58 e 7 &

the [As] does not explain the [R]. C. [As] @2, [R] T &)
C. The [As] is true, the [R] is false.

D. [As] Tad &, [R] G 21
D. The [As] is false, the [R] is true.

37. “Teej Festival’ is celebrated in 37. o ¥ <dfiS ve e S -
Chhattisgarh- .
A. JNEH
A. In Ashadha
B. m@urd
B. In Shravana
| C. WEUE |
C. In Bhadrapada
D. In Kartika D. i

«0 B FIF Space For Rough Work / T FR & i se (Y 0ns

192707-ABR2S-REC-MOR s (ITHIITWININC S s e

4
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38. For the below Asscrtion [As] and

38e 390 Fow 0, T () o e (R)
Reason [R] choose the correct

alternative- :

e F4 [As] : TAENE 77 a1 f=2=n
Assertion [As] : Dhamtari district of ) A . ‘-4 ; ;
Chhattisgarh receives more rainfall FATHI™ TS =61 741 5 /0% 11 JT
than the Kabirdham district. T 2l

Reason [R] : Kabirdham district falls

F01 (R] : FATaE e afzzm oz =
under the rain shadow region.

=T HTAT 2
A. Both [As] and [R] are true, and . L L.
[R] is the correct explanation of A. [As] SR [R] =M W @, #AW[R].
[As]. [As] =1 71 =1 2

B. Both [As] and [R] are true, but [R]

B. [As] 3 [R] ZA1 ¥c3 2, T4 [R].
is not the correct explanation of

[As) & 5= AT T E)
[As].
= a7 — >
C. [As] is true, but [R] is false. C. [As]¥T. 97 [R] SHH 2
D. [As]is false, but [R] is true. D. [As] €T ?, Wi [R]FF 2
39. What is the shape of Chhattisgarh- 39. FETe-HEH T AT F41 &2
Plain?
A. m
A. Circular
B. Oxbow-Shaped B. SAEelgm
C. Fan-Shaped C. TEMHHT

o

D. Rectangular D. AT

=00 Ejm Space For Rough Work / m#d & faase [ {0 Oo-

\'\
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eaferfie =t afera .
40 Match the followin- 40, faaferfera =1 7l

FTAT - |]
Column - | Column - 11 Bl - [ e
(n) Jhanda S:ll}’n}_ll':lllll (h 1942 (a) ZST HETWR (1) 1942

(b) Tanavat Navapara  (11) 1920

b) adrae Famer s (1) 1920
Tungle Satyagraha ( 2

(¢) Kandel Nahar (1) 1923 Heqe S
Satvagraha (¢) e et qeame (1) 192:
() Raipur Conspiracy (1V) 1930 (d) TG TEET (IV) 1930
e 1= faw v forrent o & w1 37 -

Choose the correet answer from the
Options given below- A. a-lll, b-1V, c-II. d-I
A a-l1L b1V, -1, g |

B. a-1. b-111, c-1V, d-11
C. a-ll1, b1, c-1V, d-11
D. a-11, b-111, c-1V, d-1

41. In which ficld, Yati Yatanlal award is 41. STe T WHT=T Sreme faram 2 fea

B. a-I, b-111, c-1V, d-11
C. a-III, b-I, c-1V, d-II
D. a-Il b-III, c-1V, d-I

given by General Administration aﬁmzrﬁmaquﬁﬁﬁ a7
: isoarh? : :
Department ip Chhattisgarh?  Rarsmr e
(J) Women c¢mpowerment () Tfer sem
(K) Non-violence K) e
(L) Social awareness :
L) "I Saqer
(M) Cow protection (M)) e
Select the correct answer from the fﬁ%r T I
following options- ' fewmy S Sl =
A. Jand K - '
A, JT@K
B. Kand L
B. KugL
C. Kand M -
C. Ktdm
D. Jand M =
D. JUaGM

o0 J[] Space For Rough Work / T &7t ¥ ferd srrg OB0oo.
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42. The story of Mahabharata is rclated 42, TR Y F deh .

to-.
A, AT
A. Sua Dance
B. dgar
B. Pandwani
C. Dadariya C.
D. Panthi Dance D. Geft g
43. In Mahant Ghasidas Memorial 43. TEd ureierd TN SUeed, T H
Musecum, Raipur the Archaeological raTfeas-aE # @g-Hue Yehia
Gallery exhibits a rich collection of- TR \
A. Copper Age A. TEIT
B. Cambrian Age B. m_@
C. Stone Age C. T
- D. None of the above D. o i & s
44. Which of the following are considered ~ 44. Frfafa & #1-8 afEr’ wrra oA

avoidance relationships? _ A
A. Brother-Sister | A, e
B. Father-in-Law and Daughter-in-

Law i g B. &{l-sg
C. Sister-in-Law and Brother-in-Law C. @Tefi-SfisT
D. Younger brother-in-Law & Sister- D. Tt

in-Law

s0(] Ejm Space For Rough Work / 1% & & fordt S/ Ejm Oaoe

19-2707-ABR25-REC-MOR 21 “I HI"lH“I“"I“"“C&’ 33 SetC
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45. For the below Assertion [As] and

Reason [R] and choose the correct
alternative-

Assertion [As] : In Chhattisgarh Maa
Abhiyan, is launched on 2™ May
2025.

Reason [R] : With the object of
cleaning, conservation and awareness
about the origin area of the Mahanadi
and the Mahanadi River.

A. Both [As] and [R] are true, and

[R] is the core explanation of [As].

B. Both [As] and [R] are true, but [R]
1s not correct explanation of [As]

C. [As] s true, but [R] is false.
D. [As] is false, but [R] is true.

45.

<A1 for 7 e [As] OF T [R] R

foree sk ey fare 1 <P I

O [As] : Feftae i 2 7%, 2025 Eak |

arfiprrer yrow 2R

HIT [R] . T % IATH &3 AT HeTe

T) Y =T, T Ud STEHAT T

I 387 2

A. [As]Td [R] T @&l &, @1 [R], [As]
=T TE! TP 2

B. [As] T [R] ZHi &1 & T [R],
[As] 1 &l eqdieRtT 987 2

C. [As] ¥ &, ] [R] 36T 2

D. [As] 38T &, W [R] TF 2

46.

Identify tribes under PVTG in
Chhattisgarh-

(J) Abujhmadia
(K) Gond

(L) Santhal
(M) Kamar
A. Jand K
B. KandL
C. Land M

D. Jand M

46.

SeftemTe # ot <ft Frf sa st
Te-

() ST

K) e

(L) Eorret

M) HER

A. JTEK

B. KUs L

C. LuamMm

D. JTE@M

=0 J[] Space For Rough Work / T &1 o fordr s 8 0oa-

19-2707—ABR25-REC-MOR

([ I e &
(
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47. As per Economic survey report 47. wfrang formen o st 2025 &

prcsénted in February 2025 in fopu o ool weteror foatd 3 STATT, T
Chhattisgarh Assembly per capita 2024-25 ¥ R a1 D '
income during the year 2024-25 is- ‘ i

A. 1.62870 Lakh A. 1.62870 <r@

B. 1.52870 Lakh | B. LA2370%TH
C. 1.42870 Lakh C. 142870 i@
D. 1.32870 Lakh D. 1.32870 @

48. Which of the following Ashrams had 48. Frfafes # & ufted gtere i g

been established by Pt. Sundar Lal T T T 9" a2
Sharma?
() HamHT ATHH
(I) Satnami Ashram
(1) YeHR |
(II) Pawnar Ashram

_ (111) TTaT 3THH
(ITI) Khadi Ashram
1V) 98 A9
(IV) Satyagraha Ashram )
' fartiferd forenedi ¥ & w&t IO =99
Select the correct answer from the
following options- HIIT-
A. Tonly A. Fad 1
B. I and II only - B. &dd [ T4 I
'C. I 1lland IV only C. ¥l I, I T 1V
D. I, Il and IIT only D. A LI I

Mele GG Space For Rough Work / T & & fo1d simg Ejm Ooe

19-2707-ABR25-REC-MOR s I C S s sec
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49. Consider the following statements- 49. Rrfrfiad et = A

() The Gram Panchayat Sarpanch (1) 1mg @ e AT ETId H
calls the meeting of the Gram :
[Tl d|
Sabha. ? - T B FH Y
Il I
(I As least one meeting of the Gram (I1) T |HT <
Sabha shall be held in every six T FETC Rt ST _
months. : (111) T =TI o Sedidh AT H A9 |41
(111) Gram Sabha will be organized in =T TS TR ST |
cvery village of Gram Panchayat. £ .
e AT ohi ITEFeTAT 909+
(IV) The meeting of the Gram Sabha (IV) 718 ¥
will be presided over by the ZR T S|
Sarpanch. Tt foreped &1 =a7 -
Select the correct option- & LT
A. L1 U
B. I IV B LIV
C. IIL IV C. 1L 1V
D. LIV D. LIV
50. Arrange the following Chhattisgarh 50. Frafofad sdee & fore i s a
districts from North to South and - feror i fow # Ot w5 o eee qur e
select the correct answer from the R T feret 3 & Wt 3w R
options given below- . h
(a) Dhamtari (@) SR |
(b) Raipur (b) TAR
(¢) Korea (c) i@
(d) Korba (d) aﬁw
(e) Sukma - © T

A. a—>b—o>c—>d—oe :
B. d >c—>b—sa-—e A. a—>b—oc—o>d-oe
C. c>d—>b—oa—e
D

. c—>d—a—>b—e

B. d—»c—>b—oa—oe
C. c»>d—>b—oa—oe
D. c>d—sa—>bse

Mel®) Ej Space For Rough Work / T & & ford wre mﬁj Oos

19.2707-ABR2S-REC-MOR [N & 5 sec
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51. Which dance has been called ‘Garba S1. sfy e wigw St 3 e e =1 vy
) i = : . ] ¥
of Chhattisgarh® by Shri Mukutdhar T AT HET 87

Pandey Ji?
A. Sua Dance A, JRTIS
B. Karma Dance B. &1
C. Panthi Dance C. Gt I
D. Saila Dance D. &I
52. According to which section of the 52. efraTe T H Eiad i foha am *
Constitution the Panchayati Raj ST T TS oA 2 T Y
System was established in the State of s
Chhattisgarh? '
A. Article 32 A. 341%3 32
B. Atrticle 57 B. =g 57
C. Article 40 _ C. 343;@_6«'40
D. Article 44 . D. aﬂ'—%‘q‘ 44
" 53. Maharani Vasta is related to which 53. TR aTEET S G BTG < [

ancient dynasty of Chhattisgarh? I HE R
A. Satavahana Dynasty A Su1
B. Rajarshitulya Dynasty _

B. Il?fliﬁ@@ ER
C. Pandu Dynasty

C. g aw

D. Kalachuri Dynasty

D. e

uD[]EjEj Space For Rough Work/ﬁﬁlﬁaﬁ%ﬁw Ejﬁj[]un
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54,

Directions @ For the below Assertion
[As] and Reason [R] choose the
correct alternative-

Assertion [As] : In Chhattisgarh the
Finance Commission is Constituted by
the Governor for 5 years.

Reason [R] : The Finance Commission
examines the Financial Position of the
Panchayat makes recommendation
regarding the distribution of taxes
between the State Government and the
Panchayat and grants-in-aid.

54. fiydar . A o o iR [As] S

s (R 3 fero w# e T-
a{ﬁmm[/\q;mﬁwmﬁmmm
fereftar arrim 1 w2 i AT % e e
ST 2

shrool [R] - Forefrr s = 1 e
fesrfer =1 forfteqor 71 FEERTT 4T 9= 3
o foaerfrgt s 21

A. [As] 3% [R] 2FT &7 2, 21T [R],

A. Both [As] and [R] are true, and [As] %1 Tl =aTE 21
[R] is the core explanation of [As]. °

B. Both [As] and [R] are true, but [R] B. [As] 3t [R] M1 7 &, IR],
is not the correct explanation of [As] T L SRaliGl T2

[As].
C. [As]is true, but [R] is false.
D. [As] is false, but [R] is true.

C. [As] ¥ ®, Wferd [R] 39T 2

D. [As] 39T &, AT [R] T &l

: @?ﬂmuwéawa‘{q\mﬁaé

55. Which sector contributes the most to
the GDP of Chhattisgarh State at 2024-25 4 e et w5 a3 =57
constant prices in the year 2024-25? | AN e sifirs 2
A. Agriculture and allied sectors L
A. Y Ud Hey &
B. Manufacturing sector
B. fafmfor &
C. Industry
D. Service S
D.

-ngﬁjm Space For Rough Work / T % o fert smre DDDD'-

L
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56. Arrange the given major tribal 56. o mo s sevnfa e A e |

rebellions in chronological order- srarfror i
(n) Bhumkal rebellion )
(n) VR e
(b) Mudia rebellion _
‘ . (by g fzre
(¢) Koi rebellion

S : SRR AL
(d) Lingagiri rebellion (©) ‘

(¢) Meria rebellion () feqmfre fazre
A, co>doc—=b—oa (c) wfon e

B. d—-»c—=>b—a—¢ c—>d—>c—>b—a

C. a=»b—=>c—>>d—c¢ d—>c—>b—>a—e¢

D. c>b—>a—e—d a—sb—o>c—>d—e

s B8 B

. c—>b—oa—oe—d

57. Arrange the following in the order of 57. frefefiad 1 ad o SIgd H 3 AT

increasing year- Hfu-

(a) Mulkhyamantri Swasthya Bima (a) T € <o AT
Yojana

(b) Mahtari Vandan Yojana (b) HRAR! de A

(c) Integrated Child Protection Act (©) Wﬂ'ﬂﬁwaﬁlﬁﬁq

(d) Sanjivani Sahayata Kosh : (d) asitard) T I |

A. d>a—>b—>c
B.. a—>d—o>c—ob B
C. d>b ‘

—b—>a—>C C
D

. d—>a—>c—ob

Jel®) E_jD Space For Rough Work / T = & fer’l s DGD Qo

—— 1] [T

\ ; | .:‘
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S8. Arrange the following minerals of
Chhattisgarh in descending order
based on their production value-

(a) Iron ore
(b) Coal
(c) Bauxite

(d) Limestone

A. bsa—sdoc
B. a-b—od—oc
C. bsoc—sa—d

D. a-b—sc—d

S8.

aefts % fefafaa afs w3
JeqTed qet 3 STHT W ST H

Frafierd -

(a) ©E AT

(b) HIIAT

(c) =TMTEE

(d) AT IeR

A. b>a—>d—oc
B. a->b—>d-oc
C. b>c—a—d
D

. a—>b—oc—d

59. Which of the following are the
significant tribal movements of
Chhattisgarh?

(J) Halba Rebellion
(K) Paralkot Revolt
(L) Santhal Rebellion
(M) Muria Rebellion

Select the correct answer from the
following options-

A. Jand K only
B. _J and L only
C. J,J KandL
D. J, Kand M

39,

Frefeafaa 7 & odere & Teao
SIS foRiE HH-d 82

() e fagE

(K) Teerhie foxre

(L) duret fasig

(M) T ferie

frtifere forspeat # & vt swaT =
Hifsra-

A. FTAJTEEK

B. FgJUE L

C. KWL

D. J,KQ?:'TMl

a0 J[] Space For Rough Work / & %t % fordl sie C0oo-

19-2707-ABR25-REC-MOR
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_ 60. Who led Chhattisgarh in the first 60. 1857 o TUH AT AUTH W BRETE T

freedom movement of 18577 Yo rey Bram
A. Vecer Pratap Singh A, i R
B. Vcer Narayan Singh _
B. A fiw
C. Shankar Shah
C. Y TME
p. Hanuman Singh
D. &W
S _
61. Which of the following tribes IS 61. ﬁr:r%ﬁaﬂﬁ@?-@ﬁmmﬁr e e
associated with ‘IRON-CRAFT Art™? FHaT T greed 87
A. Agaria N e
B. Kawar .
B. &
C. Baiga
C. am
D. Kamar
D. AN

62. *“MANDRI" dance 1s associated with 62. ‘migh g fha Sy & T 82

which tribes?

A. Baiga A, Am

B. Kawar B. F
C. Murnia ) & 13:’%?“
D. Oraon _ o

LYel®) Ejm Space For Rough \Vork/l‘!ﬁ?ﬁ?ﬁ%ﬁm Ejm Oos

19-7707-ABRIS-REC-MOR J [T e S o se

L . %
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63. In the context of Panchayati Raj

63.
System arrange the following
committees in chronological order-

(a) Balwant Rai Mehta Committee
(b) Ashok Mehta Committee

(c) G.V.K.Rao Committee

(d) L. M. Singhvi Committee

(e) Sarkaria Commission

Select the correct answer-

A. a>b—oc—od—e

B. asb-osdoseoc

C. boa—osd-oc—oe

D. d>5c—sa—sboe

64.

Chhattisgarh State has a scheme for
cconomic self-reliance of women and
continuous improvement in their
health and nutrition level-

A. Maiya Samman Scheme
B. Mahtari Vandan Scheme
C. Ladli Behna Scheme

D. Gruha Lakshmi Yojana

eIl TS e = da | Frefates
afufr 1 FrerATTET At Hif.
(a) aerEd g dedr |aEfd

(b) TR Hear AHfd

(c) i &t % vaafafa

(d) v, um, fHeeh wfufa

(e) TTHTEAT AN

T8 3T FT 999 -

A. a9b—o>c—>d—oe

B. a-ob—o>d—oec—oc

C. b=as>s5d—oc—oe

Dod->c—o>a—>b—oe

64.

FAATE 1154 W "igenaii & a1rfis
FAEEEA 41 3% T U gy e |

B. qcafilil g ‘:l.la:ll
C. E[lgiiﬁll :—ic.;” ‘il\ﬂ:”

D. & el drsHT

19-2707-ABR25-REC-MOR
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65. Match the following- 65. frerferfer =0 suferer fafam.
Column - 1 Column - 11 .

(a) Solar Special (1) Dhamtari e - 1 A . ]
Economic () Hvew ot gEfaE (1) oy
Zone (SEZ) . A (SE2)

(b) Mecga Food - (11) New Raipur _
park (b) T 53 T (1) T TPy

(¢) A.L Data (111) Bhilai (¢) U. 318, a1 Ty (1 fes
Center p

; (d) um, ug un, 3, TTHATZ

(d) MSME (1V) Rajnandgaon )ﬁ ' ‘ (V)
Technology T T2
Center - o1 fow o Forepet & & w1t 2o -

Choose the correct answer from the 2

options given below- A. a-1V, b-111, c-11, d-I

A. a1V, b-111, c-11, d-1
B. a-IIlL b-II, c-1, d-1V
C. a-IV, b-1, c-11, d-III
D. a-Il, b-11I, -1V, d-1

B. a-lll, b-11, c-1, d-1V
C. a-1V. b-I, ¢-11, d-111
D

. a-11, b-1II, c-1V, d-1

66. Which of the following Ormaments is 66. T W - STV 1 T TEAT 4T 22
worn in the ear? (a) TGHT
(a) Lurki (b) P
(b) Titari i el
(c) Tarki .

(d) Pahunchi @
(e) Jhumka fe) AT
A. ab,c,d A. a,b,c.d
B. b,c,d,e B. b,c.d, ¢
C. 8,¢,d, e C. a,c d, e
D. a,b,c,¢c D. a,b,c,¢

=00 Gﬁj Space For Rough Work / 16 @ o ferdl s GGDD a
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M iltllcnlatics

67. Find the right sequence/order for

solving height and distance problem in
mathematics-

(a) Identify the right triangle.

(b) Draw a diagram representing the
situation.

(¢) Interpret the result.

(d) Choose the appropriate
trigonometric ratio.

(e) Set up the equation and solve for
unknowns.

Choose the correct answer from the
options given below-

A. a—>c—>d—e—b
B. b—>d—>a—_>e—>c
C. b—>a—>d—¥e-=>c

D. c>b—oa—>d—oe

PART - 111

67. mfore & SIS 3t 21 F UvA 1A Ty

(a) @wRm Byt £ 95=™ )

(by Teafa =1 ufafafuca = g v
ATAT =T

(c) from =it == F4

(d) I9gea T S =4

(¢) THTHTOr =1 T2 7 SAATT W31
1d il

et fe Ty Forepet & & W I -
A. a>c—>d—>e—>b
B. b>d—a—se—>c
C. boba—sd—oe—c
D

. c>b—osasd—e

68.

The total salary of two persons, R and
S, is Rs. 1500. R spends 70% of his

salary and S spends 80% of his salary.

The ratio of their savings is 3:4. Then
what are the salaries of R and S?

A. 600,900
B. 800, 700
C. 500, 1000
D. 400, 1100

. 68.

31 AT R T S &1 &a a9 1500 . 2
R 3104 =89 T 70% ©< FLaT & 90T S
Y S & 80% @ AT 2| ST T
TSI =T STUC 3:4 31 T R Q1 S 1 Ja
T 2T

A. 600,900

B. 800, 700
C. 500, 1000
D

. 400, 1100

a3 Space For Rough Work / 1% & & ferd stig @GlelelT

19-2707-ABR25-REC-MOR
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69. Find the values of trigonometric 69. Ermitrdta st v o e o
ratios- -

. 0)) sin60“:—:-)'-
(J) sin60°= V3

Sl

l (K) CcoSs 601’): l
(K) cos60°= 3 2

L) tan30°=—

1
(L) tan30°=—= 5
3
(M) cot90°=1
(M) cot90°=1
Select the correct answer from the e el & ot 3ot e
following options- i S
A. Jand L only
' B. Shad KdATL

B. KandL only

C. o K, LdarM
C. K, L and M only

D. Jand M only % i
70. A man bought 8 pencils for a rupee. 70. u =fE U T 7 § e wliedr 2
How many pencils should he sell for a 60% T ITH i 6 o0 38 & T |
rupee to gain 60%? Rpart AT =T TR
A. 4 |
A. 4
B. 5
B. 5
C. 6
C. 6
D. 7
D. 7

=0 J[] Space For Rough Work / s & s (3O aos

1581425 REC HOR = NTINHCS s

1

Scanned with CamScanner]




71. Match the following- 71, Freferfiae = gHie

Column - 1 Column - 11 Frerd - | &It - 11
' 12 i
(@) Volume of right (1) 3™ h (n) e gdaaed (D) Sﬂrzh

circular cylinder &1 I

(b) Volume of right (1) 4nre

(b) s (1) 4rr?

EARIENE

circular con¢c

(¢) Volume of sphere (111) nréh )
() T aEmas (1) nr'h
B .
(d) Total surface area (IV) Enr3 4
ORISEIES (V) Em?'
of sphere :
Choose the correct answer from the !
options given below- oy for o et B & ) ST ?ﬁ'

A. a-IIl, b-11, c-I, d-IV A. alL bL, c-L, d-IV
~ B. a-1V, b-I, ¢-II, d-I1I
' B. a-1V, b-l, c-1I, d-11I
C. a-l, b-I1, c-IV, d-III _ :
‘ C. a-l, b-II, c-1V, d-111
D. a-IIl, b-1, c-IV, d-1I

D. a-III, b-I, c-IV, d-II

=00 3] Space For Rough Work / S FR & i@ e [ i 0o-

g

19-2707-ABR25-REC-MOR s JNINNINIIMNC s - .

j b
!

Scanned with CamScanner]


https://whatsapp.com/channel/0029VaAa6hrJP218uz3Rag0n

72. Find the mode from the data given 72, fa sttwst o averE A Hafao.

below-
5- [10-] 15-] 20- | 25-
| 0-5 ,
ey SO R 1 (R et e AR
— ] 1s ML | 18| 20 [ 25| 30| 16| 14
Frequency| 18 [ 20| 25 [ 30 ] 16 14 -

. . - CLEe? et 7 A T e = e g
Arrange following steps to find mode- .
ifigu.
(@) Find Ly,L,,f,f),and 5

(@) L;,L,,f,f, a4r f, s it
(b) Find modal class

: : (b) e = A i)

(¢) Find maximum frequency

(d) Calculate (c) Afiemaw At T Fif=m)

Ll'."a'f—f";_fl'?x(LZ'Ll) (d) WEﬁ]’FﬂQ
= 52
. L+ ik x(Ly =L;)
(e) Putmode 26 -f1— 1,
f—'fl . :
=L, +———x(L,—-L
T I —fzx( 2~ 1) () Sgewh
: . f—f;
Choose the correct answer from the =L+ 2f —f, - X (L2 'Ll)
options given below- . .
Fra fea e frepedt H H HE SWHA-

A, a—>c—o>b—oe—d

A. a—>c—>b—oe—d
B. c>b—a—>d—e

B. c—}b-#a—nl—ac
C. boc—oa—e—d

C. bo>c—oa—>e—d
D. co>b—oa—e—d

D. co>b—oa—oe—d

=003 Space For Rough Work / T & & ferd sme [}3 Q0=
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73. Read the following sentence carefully-

()Y Sum of first n natural numbers is
n(n +1)

2

s

(K) Sum of first n even numbers is
n(n+1)

(L) Sum of first n odd numbers is
(n + 1)2

(M) Sum of cubes of first n natural
n+ 1)2

2
Select the correct answer from the
following options-

numbers is [

A. Jand K only
B. K and M only
C. J,K and M only

D. J,L and M only

73.

(J) SO n Tl HEATHT F A

n(n+1) 3
2

(K) oIH n &9 HEA1si #6140 n(n+1)

2

(L) oI n faey gt v am (r'n-l.-l)2
2l

(M) TUH n YTehfeh 9T o 941 1 3
£
n =
&l
[ 2 J

P Frched 4 & i 3o -

A, g JTATK
B. Fad KaaTM
C. FadJ, K I M

D. FAJ, LT M
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IR

~ l_lllldl =i

7. fu o et A @ T H T 76. fyeferfiaa fasertt i & aFT % 58 =
A. UF A. firer dmEm Y 7t 7 2
B. CH B. e e 1 T s T8
c. fafr C. T drwam 1 ¥ 7= T 2
D. =9 D. frse Gwam & = 9= 9|

75. frder - S €t TS TIUAT (Assertion) [As] 77. F=fafRad el 1 3% 69 F AT F
3T @ (Reason) [R] o T T HE! Ty we e Sie-
fereeq <1 = ST HieH-1 HIEH-11
T [As] : T T Fviiersh deed ® (TTR) @ifen)
ﬁ[R]:?ﬁ%WﬁrﬂWwﬁ%ﬁﬂT (a) T (1) FurEta
el (b) enfle () HeRER
e feu el d 9 9 Toshed st =13 (c) = (1) fereet gt
- (d) TAH (av) < gt
A. [As] @& [R] Terq e o e forereatt 9wt S -

B. [As] T&id [R] @&l

A. a-IL, b-TI1, c-1V, d-1

C. [As] TTeTd [R] TTeTd B. a-lll, b-1V, c-11, d-1

C. a-l, b1, ¢-111, d-1V
D. [As] @& [R] @& y SRS

D. a-1V, b-I1, c-1, d-111
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78. @Ir Wi G YR T AT 80. = fru mu et # & It www

TH T T S[gTAT Y764 <hl AT 1 AT TR L gfie THIE AT WHA %
Fh. T T = RILT-
A. shfaarses @31 (a) SN
B. oafmare (b} EREG
¢, Ve (©) F&g
p. s AwE (@ =i
- et S T =G hivT-
79. e fe g e 3 AFAR ST i 3fem
T ; 99 H TG Al I TATHHT 3 B. saab 3 c
(a) T ATST-STEd T C. a, b, 3¢
(b) T TaRT ¢ & et e e &
D. a, b, 3 d
(c) ey femar sy '
" (d) A i =it e
(e) afer ferenfofant @t shder-3rardan =1
RIS EeC)
faw e foereal d | Hel shH ol = -

A.a—>b—>c—>d—e
B. b—->d_——>a.—>c—>e
C.c—>d—>a—>b—oe

D.d—>c¢c—>b—>a—e

Nele) EjD Space For'Rough Work / T %1 & for st EjEj Coe

N 111 1" 3P
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Chhattisgarhi Language

81.

The standard form of Chhattisgarhi is
considered to be-

(1) Chhattisgarhi of Raipur

(1)) Chhattisgarhi of Ambikapur
(111) Chhattisgarhi of Raigarh
(IV) Chhattisgarhi of Bilaspur

Choose the correct answer-
A. 1and Il only

B. Il and ITI only

C. Tand iV only

D. I 11, Il and IV above all

PART -V

WY T

(1) T % weramal o

(1) sifsrerTge & el rame &

(1) TG o A G &

(V) foremaq % T @
- HEl I AT FI-

A 1SN

B. 1137 L& &

C. I3 IVad

D. 1,11, Il 31 [V &alid

81. weltand) % WG ETAA TR

82.

‘Lariya’ is spoken in-
A. In Korba area

B. In Raigarh area
C. In Basna area

D. InJashpur arca

82. wfEnae sm-
A, FRETEAH
B. (Og&AH

C. TEATETH

D. SR &S|

=a 0 BIFT Space For Rough Work / T % % ferdl siTe @loleLL
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83. According to the publication ycar, the

correct order of the books published

on Chhattisgarhi will be-
(a) Chhattisgarhi Biyakaran (Mangat
Ravindra)

83, wepTer a & ST FefrETe el 3

geRTiRTer fPReareres 2 el s #-
(a) werae fermae (dma )
(b) AT aelY : SarRTor 3T

(b) Chhattisgarhi Boli : Vyakaran aur (ehifa M)
Kosh (Kanti Kumar) (c) TR = SR R
(c) Chhattisgarhi ki Vyakaranik @ 2 S

Kotiyan (Dr. Chittranjan Kar)

(d) Chhattisgarhi me Upsarg
(Naredra Kumar Saudarshan)

(¢) Chhattisgarhi Bhasha ka Udvikas
(Dr. Naredra Dev Verma)

(d) SHETE T I (R FHE HiEvh)
(e) SEETE WM % IfaeRTE
(&1, 7% <9 )

A. c>e—>b—a—d

A. c>e—>b—oa—d
B. e»>a—>b—o>d—c
B. e2>a—>b—od—oc C. if d
. bse—>c—>d—a
C. boe—>c—>d—a
D. a—>d—>c—e—b
D. a—>d—>c—o>e—b
84. On the basis of usage from North to 84. wfeTg o 3T & afdor faem gt v
Soduth cicf Chhattisgarh the correct SHATYR W SUIET 3 3G ITSTAHT
order of Chhattisgarhi & its sub-
dialects would be- HEbE A
(a) Sargujia (a) @i
(b) Binjhwari (b) feizard
(c) Chhattisgarhi (c) ST
(d) Lariya (d) @
(e) Halbi © ‘
e) ToAdl

A. a—>b—oc—>d—oe
B. e»>d—>c—>b—a
C. boe>d—oc—a
D. d>c—>b—osa—oe

A. a—-)b—)c—>d-..>é
B. e—>d;>c;>b_>a
C. bobes>doHc—a
D. d>c—>b—oa—oe

Jelel@ G Space For Rough Work/@ﬂ*%ﬁm- EjEj Clge
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85. What is mosquito called in 85. w=r T T 9 w5 R =
Chhattisgarhi? '

A. Keera - :ﬁm
B. Bhoosdi B.
C. Macchi | C. "l
D. Maho D. HEl

86. Make the correct pair of Chhattisgarhi 86. TS F IS A3 A fafoe

dialects and their specific words- e e IS ISICEICER
Column - 1 Cglumn -11 . R i
(a) Halbi () Saan-Sittir
' (a) TS (0 TwE-ffw
(b) Kalanga (II) Belsuga
(b) F&T () g
(c) Sargujia (III) Leka

(d) Sadari Korva (IV) Panaahi (c) gUfvET (I S

d) e EE (V) TS

Select correct answer from the option
given below-

g1 faehed & 994 -
A. a-Ill, b-1V, c-11, d-I
A. a-Il, b-IV, c-11, d-1
B. a-1, b-11, c-I1I, d-1V
' B. a-l, b-11, c-I1I, d-1v
C. a-1V, b-Il, c-1, d-11I

D. a-II, b-II1, c-1, d-IV C. a1V, b-ll, c-1, d-I1I

D. a1, b-I11, c-1, d-1V

=03 GG Space For Rough Work/tq;‘al?ﬂf‘gﬁfﬂﬁw GGDD =
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87. Of these the pure Chhattisgarhi words 87. uii ¥ vrg weframdt wreg w-

dare-

(nH =z
() Jharna

(1) =T
(ID Jhurna Q
(111) Mulha (1) e
(IV) Tokna (IV) 2ihl
A. land Il only A, 1SS A
B. II and III only B. Il 313 [l & &t
C. III and IV only : C. Il 5% [VErd
D. ILIIl and IV D4l 3 v =

=0 I Space For Rough Work / T % % fort sre OB ooes
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PART - VI

Logical

—_—

88.

Arrange the organism according to
their size-

(a) Blue Whale
(b) Penguin

(c) Giant Tortoise
(d) Shark

(e) Starfish

Choose the correct answer from the
options given below-

A.ao>b—o>c—o>d—oe
B. b>d—>c—>a—e
C.e—>b—o>c—>d—a
D

.e—>d—=>b—o>a—>c

88. S 1 b ST 5 S syt

Hifsu.

(@) e e

(b) T

(c) fommereh FgeT

(d) R

() RRfH;

e T e forret & & o STCH-
A.a>b=c—od-oe
B.b—>d—>c—>a—e

C.eo>b—>c—>d—a

D.e—>d—>b—>a—>c¢

89.

Doctor is related to “‘patient”, in the
same way “teacher” is related to-

A. School
B. Exam
C. Book
D

. Student

89.

e ST <SR T Hee “HisT W E,
eft yare “firerer 1 €9 -

A, I
B. Wiam
C. foparsr
D. o (fmmef)
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90. Which of the following are natural

source of light?

(a) Sun

(b) Fireflics

(c) Bulb

(d) None of the above

A. aandc

B. aandb
C. bandc
D.

Only d

90,

R

Ferwstferfua 1 41 Y1 w121 6 wrpfs v
2
Ly

(1)

(b) ST

(¢) dled]

(dy  I0EE W A 1S A
A. a 37 ¢

B. a3Th

C. b 3ﬂ-{ C

D. fakd

91. For the below Assertion [As] and
Reason [R], choose the correct
- alternative-

Assertion [As] : Antibiotics do not

-treat the corona infection.

Reason [R] : Corona is a virus; not a

bacteria.

A. [As]is true and [R] is true, and [R]
is the correct explanation of [As].

B. [As] is true and [R] is true, but [R]
is Not the correct explanation of
[As].

C. [As] is true, but [R] is false.
D. [As] is false, but [R] is true.

91.

Fr=r fow 0 e [As] 3T FE[R] F foo

we feree =7

HUH [As] : THamarteFa BT TR F

TATS el hidl|

YT [R) : AT U AP 2; 4 5

el

A. [As] O ® 3T [R] | 2, 31 [R].
[As] 3T F&l TTdaRT 2

B. [As] U@ 3T [R] T 2, 3017 [R].
[As] 2T T&T TIEFIOT T2 2|

C. [As] T2, 9] [R] EH 2
D. [As] 38 2, 9 [R] | 2

92. Which of the following rivers flow in
India?

A. Ganga, Yamuna, Brahmaputra
B. Nile, Yamuna, Congo
C. Yamuna, Nile, Volga
D. Brahmaputra, Volga

92.

Frfafia o & 1 t Tt Wi d s
&

A. T, AT, SR

B. et @A, wim

C. 91, e, e

D. S, Jrem

unuﬂjﬁj Space For Rough Work/l‘iﬁ?ﬂﬁaﬁ%ﬁlm Ejzj[juu
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93. Ifin a certain language “BROTHER™

93‘

A fapefy v # “BROTHER” 7t
“DOSVIGT @ “SISTER™ 7t ¥ ferran
S?

A. UHWVGT
B. UGUUGT
C. UKUVGR

D. UIUVGT

is written as “DQSVIGT", how is
“SISTER™ writté ! #*
A. UHWVGT
B. UGUUGT
C. UKUVGR
D. UIUVGT
e o s —— S
94. Match the following-
Column-I Column-11
~ (a) Square to (1) Change in
circle ' colour
(b) Small triangle (II) Change in
to Big triangle shape
(c) Black square (IIT) Change in
to white square Direction

(d) Rotated Arrow (IV) Change in
size

Choose the correct answer from the
options given below-

A. a1, b1V, c-11, d-11I
B. a-Il, b-1V, c-], d-III
C. a1V, b-IL, c-111, d-I
D

. a-IIL b-1I, c-1, d-IV

94.

Frferfiaa gaferd ifsTe-
HIH-1 -1

(a) S AT D a1 7 gftaed

(b) SRPEE () SRR TR
sret Bt

() FATH (nll)ﬁsrrﬁqﬁaﬁq
wra

(d)- TG AR (IV) 3T o

3 R e et F & WS-

A. a1, b1V, c-II, d-11I
B. a-II, b-IV, c-1, d-1II
C. a-IV, b-11, c-11, d-I

p. a-lIL, b-IT, ¢, d-IV
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English

95. For the below Assertion [As] and

Reason [R] choose the correct
alternative-

Assertion [As] : A simple sentence has
only one independent clausc.

Reason [R] : A simple sentence
contains one subject and one predicate
only.

A. Both [As] and [R] are true, and
[R] is the correct explanation of

[As].
B. Both [As] and [R] are true, but [R]

PART -VII

Eesil

— e

97. .Ma‘;c_:h the following-

Column - | Column - 11

(Type of sentence)

(Sentence)
(a) Youwillbe (I) Imperative
looked after.
(b) Whata good (II) Passive

friend you are!

(c) Open the door (III) Complex

for me.

(d) Itisterrible (IV)Exclamatory

is not the correct explanation of that people
s should die of
C. [As]is true, but [R] is false. starvation.

D. [As]is false, but [R] is true.

96.

Out of the given alternatives, choose
the one which best expresses the
meaning of the given word-

TYRANNY
A. Misrule
B. Power

C. Madness
D. Cruclty

Choose the correct answer from the
options given below-

A. a-Il, b-1V, c-1, d-III

B. a-II, b-1IL, ¢-1V, d-1.
C. a-IIL, b-1V, ¢-1, d-11
D. a-1V, b-I1, c¢-I, d-III
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98. Direction

< - In the following items, &

sentence has been jumbled in some
parts. Rearrange the parts which are
denoted as &, b. c. d and ¢. S0 that the
reordered sentence makes a coherent
sequence-

(a) from other kinds of life,

(b) Whenwe distinguish between art

and morals, W¢€ do not mean that

(c) which dwell aloof in some starry

world reserved for poets,
painters, OF musicians.

(d) thatitis made up of ideas
peculiarly its OWI.
(e) the life of art is in its nature

different.
b—-)a-—)e-—nl —C

A
B. a—>d—>c—>b—€
C; b——>e—>‘a—>d—-)c

D. c—>d—a—>e—b

e

99. QOutof the gi'ven alternatives, choose

the word opposite in meaning to the

given word-
REJECT
A. Agree
B. Accept
C. Embrace
D. Adopt

100. 1, the following items, there is a

sentence in which some parts have
been jumbled. Rearrange the parts
which are denoted as a, b, c,d and e.
So that the reordered sentence makes a

coherent sequence-

(a) like Wordsworth,

(b) It i's the feeling of ecstasy which
Blake,

(c) is for him the sign of inspiration
and truth.

(d) values supremely,

(e) and the pressure of that feeling

b—)a-—)c—-«)e—-}d

>

c—-)e—->d——>a—>b

b>c—e—>d—a

v 0 W

b—>a—>d—>e—C

. U
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